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Aufgabe 1:
Es seien (X,A, µ) und (Y,B, ν) σ−endliche Maßräume, f ∈ L2(µ), g ∈ L2(ν). Zeige, daß

h : X × Y → C
(x, y) 7→ f(x)g(y)

∈ L2(µ⊗ ν)

ist.

Aufgabe 2: Zeige:

a) S(Rd) = {f ∈ C∞(Rd) : lim
‖x‖→∞

xα(∂βf)(x) = 0 für alle α, β ∈ Nd0}

b) ϕ : Rd → C
x 7→ e−

1
2
‖x‖2

∈ S(Rd).

Aufgabe 3: Zeige:

a) Für a > 0 und n ∈ N, n ≥ 2 sind f : R → R
x 7→ x

(a2 + x2)n

und g : R → R

x 7→ 1

(a2 + x2)n

Lebesgue-integrierbar.

b) Für s ∈ N, s ≥ 2d+ 2 gilt 〈·〉s : Rd → [0,∞[

(x1, ..., xd) 7→
(√

1 + x21 + ...+ x2d

)−s ∈ L1(Rd).


